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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x8=8
ot fcresTyz Ted f

(a) “Logic is the study of the methods and
principles used to distinguish correct
from incorrect reasoning.” Who made

the statement?

‘o e TyT (S o[ 7JF IS IR
T YN S AT SR SR |7
FYEE (I iz ?

(b) “Valid reasoning guarantees a true
conclusion.” Is the statement true or

false?
“y e <o e P RIS freg 1
PR 3 (ST 7
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(c) Name the propositions where predicate
term is undistributed.

CRR I5PRE T for1 3'® Reqw omesr smme
|

(d) “The subject term of a premise will be
the predicate term of the conclusion.”

u/

! -;_f,;}'v/- &) Thls Is a rule of obversion/conversion.
I \r
(S s P AR A ( Choose the correct answer )
N LaNel
( X@ T Al Prams Rom om
5\ iy
”” G eifoqéT /STd o |

Sl S Q?’

( o T Ao Tfene )

(¢) In which figure of syllogism the middle
term is the subject term in both the

premises?
TR QWG RS @RSl
ARG, ey o[ 2 9

(/ DARAPTI/DATISI/DIMARIS/DARII is a
valid mood of which figure of syllogism?

( Choose the correct answer )

DARAPTI/DATISI/DIMARIS /DARII 754
CIIC! FEEH 034 I 9

(8% Tech! Afo Sferear )
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(g9 In which ordered enthymeme both
premises are stated, but the conclusion
is left unexpressed?

@S T R ES AT S
AR =, e fram Swie 2 A0 ?

(h) Dilemma can be simple/complex/both
snnple and complex.
( Choose the correct answer )

W TR el G

A |
(v Te3co! A Sfered )

f the following questions :
2. Answer any six 0 i

wer fi e i e =br T o

(@) What are the two conditions of a sound

argument?

ﬁﬁ?{i(sound)'ﬂ:@ﬁs@ﬁ;ﬁ?

(b) State two differences between material
truth and formal truth.

o STl FF RIS TGO Ao A
o1 A% fers |
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4 ) (5)

{c) Wl'mt i? meant by ‘opposition’ in (i) Define obversion.
Aristotle’s Square of Opposition? oifq6q wIgea foal |
» 3 j
CSEREE S[GIEE 5 as{tﬁsa— “ﬁmq ?11%11?.—1 53

() What is the literal meaning of ‘Sorite’?

JER 2
l__' ;S .t P ?
(d) Define syllogism. {;_.:_' orite’3 SrERT uY
RIIRE R A\
el 3. Answer any four of the following questions :
X e A 5x4=20
() How is ‘mood” of—a*' sylloglsm sl a o e
determined? GoTS WAl 2R [ CRICA! SIS -
T 9fox “Repr CFeTed T << = 2 (a) How does an argument differ from
() St an argument form? Explain.
Ry 70, SifeEss hetwane] 111“— <1 e SR o CFCAP 4 7 TR
immediate inference and mediate
inference.
TN SR S A A A A f ain the differences  between
R e w5 eefe o o tive inference and inductive
(g9 Why i : BN érence.
9) y 1s logic considered as a normative \\q\ A i S S S TR qErS A9
SClenCt’: gL 2 L ‘—-—— N
and not as a positive science? 7 Nt 0
ST 9 e Rem g, sy R
G ’ i distribution of
feorere e am , (c) ’\;’nte a short note on distrl
erms.
") Sftate briefly the nature of the structure o el e af 5 (O form
0
ﬁgimﬁgrﬁentl (d) What are the four kinds of Categorical
ST T fors Propositions? Explain.
S o feers 9oa {8 6 2 0 <0
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(e) Mention the rules of syllogism and their
associated fallacies.

TAR FRTTg2 Seay w1 W $3Ree oice
W% 02 4 RO (fallacy)q W R4 |

() What is Venn diagram? How are A, E,

’_)____THI and O propositions represented by

S By méans of Venn diagram?

ﬁﬁ"ﬁ‘mA E, | 9F O I54% (sv foaq
WWWH‘W@?

, =~

) Wx/texa short note on Sorites.

S— _‘;_,—

;’-’51_ 'J‘%"I\W (Sorites) 3™ «fp 124 Ol forr 1

(h) What are the kinds of hypothetical
syllogism? Explain.

e FRers me ez & R T
o= |

Answer any two of the following questions :
10x2=20
TS {81 2P R @I o T ot -

(@ How are truth and validity related to

xé’c?/’[/‘ r
greq
Kﬁ, Dis ‘ ""CH@ fejaf
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(b) Explain the different forms of Opposition
of Propositions.

75719 Raifter [(ifea 2R 7o 1 <41 |

(c) Test the validity of the following
syllogisms with the help of Venn

diagram : 5+5=10
o1 fou EORE wee  fE SECSReN
(sylloglsm) SECATRRESIE

Colleg
3“/3(1{7 All cows are grass eaters.

;55‘0 oy Some wild animals are grass eaters.
(3 & / ’I‘herefore some wild animals are
(e W cows,,

‘io\ m*’ci/fr o T Pl |
3 \' R R o 2 P |
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_._.
N \. U'r‘ :1"

Vi m g FAA T = AE |

(i) No humans are cats.
All humans are mammals.
Therefore, no cats are mamimals.
Al T2 7= A |
el TR 20 T |
ez, (RN (Va1 = T |

(d) Explain Venn diagrammatic technique

{ podtom. .
{:‘ 3 ’/),f I Aculr qrabisirirsoc (GO e

(a) Ebequ ACSLr gr JE.: SIS IC zcrpurc!r!r

(d) Explain Venn diagrammatic technique
for testing the validity of syllogism.

o foag smge TR 9@ @FewE Ao
IR =R, G “rfech I w1 |
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(8)
/-:/[.',\‘IQC-\:?
S e i

A 98 L
P
N -f(e) W,h fus Dilemma? How is Dilemma
g ‘gf ,-" c;iasmﬁ d? Illustrate.
3
(e
b}

2+8=10
? JoURE @FCAERC RT3

; "ﬁ%ﬂawwl
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